Mini-Exam 2 Name:

1. Convert “betray” into numbers.

2. What vowel goes with each number?
(a) 2 (b) 1022 (c) -2

3. What consonant goes with each number?
(a) 4 (b) 25 (c) -3 (d) -30

4. (a) Where does the shift by 2 cipher take betray?

(b) What was shifted by 2 to get RTIB 7

5. (a) What shift turns betray into QOJGIN 7

(b) What shift turns betray into MEFCAK 7 (harder, explain your answer)



6. A shift cipher was applied to a short Englich sentence to get E nuy caup fsa xaddura .

(a) How many words did the sentence have before it was encrypted?

(b) How many letters did the first word have?

(c) What was the first word (probably)?

/'//1 f;; T 107“\. d
(d) Figure out all the vowels: E nUy cAUp fsA xAddUrA \&R‘“«W{/{
(e) What are some (at least three) possibly keys that would work to encrypt the vowels?

(f) Any guess on the fourth word?

(g) What did the message (probably) say?

7. (a) Where does the double-it cipher take dog?

(b) The double-it cipher was applied to an English word to get DUDDX . What was the
original word?

I



Mini-Exam 2 Name:

1. Convert. “subtly” into numbers.

2. What vowel goes with each number?

(a) 4 (b) 1025 (c) -5

3. What consonant goes with each number?
(a) 2 (b) 22 (c) -2 (d)-22

4. (a) Where does the shift by 3 cipher take subtly?
(b) What was shifted by 3 to get RUBX ?
&

5. (a) What shift turns subtly into JIRKBP ?

(b) What shift turns subtly into MUVNFS ? (harder, explain your answer)



6. A shift cipher was applied to a short English sentence to get A veidt kxu zup .

(a) How many words did the sentence have before it was encrypted?

L{ L\)orf;s

(b) How many letters did the first word have?

| lefter

(c) What was the first word (probably)?

A P

(d) Figure out all the vowels: A vEIdt kxU zUp ‘Pw(‘-’“ Ly -
AE 1T O0W 1 T
A A e To W H-E“"__'E
/ j. -L O LA q- = 1 .Ou.- wl ¢
e) What are some (at least three) possibly keys that would work to encrypt the vowels?
( )
/T gyt -3,¥3,+8, 4B Deeeyph ;L)-j)-g) ~13
A" Eﬁ“\ﬂ"" 1'0,1’5_]-!-[0)-5’ Dacf\hzf' ‘01 "S_) "/0/ f’(
(f) Any guess on the third word? 5
Refore K X W | 43 o a\ 8 le 2 2 4 2 :
™M = N e € 3
314 5 o © cTélfrwEl-Brhg
The i o =
(g) What did the message (probably) say? s 2,

A veidt Kx w 2w
Balion, | #2334 g1 ¢ u,;)Pl’l ‘FD
- '3 1_ I(Jy\,s H& ‘(C
Mo 3 44503 16,62 8,2,20 7’
I FOU\ND THE KEY
7. (a) Where does the double-it cipher take cat?

C AT
Be“'m, A | \b FE/V’
T YR |

(b) The double-it cipher was applied to an English word to get TANNX . What was the

original word? -+ A /V /V X
Aﬂ"( 15 k60 “ 14 =40

@ /-
Betoee fig’,l(;, 6 , 20 %lﬁéi/

k1 TT Y



Mini-Exam 2 Name:

1. Convert “tricky” into numbers.
TR ( CKY
16,04 3 ,%,20

2. What vowel goes with each number?

(a) 3 (b)88-1523  (9-3+53¢  (d)-88
T y = —®
E

3. What consonant goes with each number?

(a) 8 (b) 28 (c) -8 : (d) -28
-2 t'LL ¢ i
% __t?_'_l—-/

- ] & .
4. (a) Where does the shift by 4 cipher take tricky? R

ﬂ(’%aao’ 1€,%2, 6, 14,393 y 4
 YwERrP D WHE e

(b) What was shifted by 4 to get QOHPD ?
@ 0 {HrP oD

After B4 42 3 L k |
Belore 4 03§ L g -l=20 u_c
L WeKY
5. (a) What shift turns tricky into LTETBQ ?
Befoce 16 14 3 2 g 20 Cons ¥ =% oc +14 .
+
Al 4 F L (b | 13 Vowd =1 of HY o ¥1 ef

+14 werks [ both

(b) What shift turns tricky into RPTZHW ? (harder, explain your answer)

Ez‘{‘\ufb IB ‘L' 3 Q. ¥ QD Cous ‘L "'Q or -‘\-Iq of +L,D e .\..6[
AHC( ’L( lO\ 3 Q“ 6 l 5 Vow(l + 0O or tSor tI0 oc ¥iSer... ¢ L[a

+ YO Loscks for both



6. A shift cipher was applied to a short English sentence to get O eqir hvi ilez .

(a) How many words did the sentence have before it was encrypted?

(b) How many letters did the first word have?

| Jetter

(¢c) What was the first word (probably)?

i 3 ’ FE.. i
Y et P S i
L T LB AE L
i kb s e N ey 4
g O . 5, .
1 4% i, 3 3 - F
of N LM
rd - i .‘. 3 "
2 % P / E 5
¢ PAW | .
% s " Ak N
v 7 v

(d) Figure out all the ux:owels: O EqIr hvI ILEz ~— g
g. o u A E A 0.U, .U U0, = X0 dposat scem like E"jAd

WAETD T A.E. € E-he 1
(e) What are some (at least three) possibly keys that would work to encrypt the vowels?
R: EBwcofpt +3,48, ¢ 13,72 Deerygpt =3,7%,713, &2
* :r_' Encegt 1, +6, +] Ko, . Ouryﬂ‘ =1,=6 il + 1, +9
f) Any guess on the third Word7 wvlz 6.17,.3

H/;f/lg(‘t '_/'(/w/"‘* 5,16, %

l al, u, 6
6 TE| 62WVE[-1l Ty
(g) What did the message (probably) say? 5 ~ e The..

Ater | L’f a)’gj 2) IL{ 61}"}',3 3}7)21;” '
& 2 },3,2,3 [6)6)31 2){?),),0 T ocel +he exom.

2 ¥10

7. (a) VVhe.reé' does the double-it cipher take cow?
o W

BC{‘WC L 4 13 F I 6
Afe 4 3 15

(b) The double-it cipher was applied to an English word to get LPOOD . What was the
original word? L Poo D

A er qQ 44 3

LS G
Bebwe 15 6 2 e

s H EEF

B
# X

ee &%



